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2017 U —=2RA > hER

EFXF—U5% FrLIZAUSR
Pos | I>MS5>bM4 | Rdl | Rd2 | Rd3 | Rd4 | Rd5 | Total Pos | I>NS5>b4 | Rdl | Rd2 | Rd3 | Rd4 | Rd5 | Total
1 |(HD~ 20 20 40 1 (AR &7 20 10 30
2 |tZFKEB X2 8 15 23] 2 |[S.F 12 8 20
3 |[fhEALE 12 10 22, 3 o 20 20|
4 |HMMRAEB 15 15 4 |H/RA S 15 15
5 |&Dn 12 12 5 [&oF 15 15
6 |=V4 10 10 6 |F4 12 12
7 |UwA 8 8 7 |#A BuT 10 10|
8 |&Ef —fE 6 6) 8 |kKAU— 8 8
9 |kt 6 6) 9 [CLLJIUL 6 6
10 0 10 |/NEF s 6 6
11 0 0
12 0 0
13 0 FvL>ShH~CARTS
14 0 Pos| I>RS5>bh4& | Rdl | Rd2 | Rd3 | Rd4 | Rd5 | Total
15 0 1 |WERA 20 20 40
0 2 |SuMIO 15 15 30
0 3 |#& A5 @inpactblue 12 12 24
0 4 |5EA 10 10|
5 0
6 0
K-CARISX 7 0
Pos | I>RS5>b4% | Rdl | Rd2 | Rd3 | Rd4 | Rd5 | Total 8 0
1 [(Fpe 20 12 32 9 0
2 |K 10 20 30
3 |MDi 12 8 20 ZRILAOSR
4 laqu 6 10 16 Pos | I>NS5>b4 | Rdl | Rd2 | Rd3 | Rd4 | Rd5 | Total
5 |e\wWE 15 15 1 |[B<% 15 20 35
6 |depa 15 15 2 |[/NEF Ese 20 20
7 |<FEN 8 8 3 |ss 15 15
8 |=ho 6 6 4 |FrEh 12 12
9 0 5 [LWbnwELo3 12 12
10 0 6 |t BT 10 10|
11 0 7 |\ IEX 10 10
12 8 | 8 8
13 9 |HII 8 8
14 10 |'BH =iE 6 6
15 11 |pEELLDE 6 6
12 0
13 0
=RL BOUSR 14
Pos | I>MS5>b4 | Rdl | Rd2 | Rd3 | Rd4 | Rd5 | Total 15
1 [ BB 12 20 32
2 |IZh@7RIR 20 20
3 |&BES 8 12 20 IF—b
4 |BE =R 10 8 18 Pos | I>F5>bF4 | Rdl | Rd2 | Rd3 | Rd4 | Rd5 | Total
5 |hiro 15 15 1 (WO = 12 12 24
6 |EHEE S 15 15 2 |OTHEBYA 20 20|
7 |[=VPHIL 10 10 3 |BAZD 20 20|
8 |/l 1L 6 6) 4 | TAHP® 15 15
9 |LLE KIAER 6 6 5 |9T9F hXA 15 15
10 0 6 |KEN 10 10|
11 0 7 |miya 10 10|
12 0 8 |EtE— 8 8
13 0 9 |oo<A@UTLrA 8 8
14 0 10 | ADIISv 2F— 6 6
15 0 11 |[Fyvs— 6 6
12 0
13 0
14 0
15 0




